D1vISION WITH A REMAINDER II (H - SET 4)

DIVISION WITH 10 Name:
Time: Score: A

no7017 + 10 = 16) 2139 + 10 =
2 6055 =+ 10 = 1m0 3022 + 10 =
3 3439 = 10 = 15) 3030 = 10 =
1 3617 +10 = 19) 1464 + 10 =
5 5276 + 10 = 200 9338 + 10 =
6 4284 + 10 = 20422+ 10 =

N 5134+ 10 = 2) 3244 =+ 10 =
55295+ 10 = 23 5507 + 10 =
9 1030 = 10 = 2 3894 + 10 =
1) 3374 + 10 = 2) 7378 =10 =
1) 5233 =10 = 260 3247 =10 =
12) 370 = 10 = 1) 2294 + 10 =
1) 3097 + 10 = ) 8573 + 10 =
11 3195 = 10 = 290 1940 = 10 =
15 8117 =10 = 300 3884 = 10 =

Mathematics: Division - Level 8 - Horizontal - Set 4
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